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                                                Answer Key 

 

PART I: WRITING                                                                            (35 MARKS) 

 

PART II: READING COMPREHENSION                                         (35 MARKS) 

Passage 1: 

A. For questions 1-8, choose from the people A-D.  (8X2=16 marks) 

1.A,  2.B,  3.D,  4D.,  5.D,  6.B,  7.C,  8.B   

 

B.Use information from the text and refer to TWO benefits and TWO drawbacks 

of working outdoors.  (4x1=4 marks) 

Advantages: (any two)  

 Visit places you want to go to 

 Great atmosphere / astonishing places / caves 

 Meet people from different backgrounds 

 The satisfaction you get out of helping people overcome their fear 

Disadvantages: (any two) 

 Deal with old, ruined shelters / Clean up 

 Pick hikers up on dangerous parts of the river 

 Be aware of what is happening all the time- A lot of concentration is 

required 

 Freezing cold /  Harsh weather conditions 
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Passage 2: 

C. Choose the best alternative a, b, c or d according to Passage 2. (5x2=10 

marks) 

1.b  favourable effect of video games 

2.c  movement ability 

3.d  quick decision making 

4.a  have feelings of great sadness 

5.c  related to emotions 

 

D. Match the words in column A, underlined in the text, with the words in 

column B, according to the text. There are two extra meanings.  (5x1=5 marks) 

1.e  related to movement 

2.g  exact 

3.f  skillfully control 

4.a  traditional 

5.b  unfriendly 

 

PART III: USE OF ENGLISH                                                                    (30 MARKS) 

A.Fill in the gaps with only ONE suitable word. (10x1=10 marks) 

(1) has 

(2) the 

(3) been 

(4) if/whether 

(5) when 

(6) of 

(7) his 

(8) at 
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(9) before 

(10) as 

 

B. Complete the second sentence so that it has a similar meaning to the first 

sentence, using the word given. Do not change the word given. (5x1=5 marks) 

(1) is going to be demolished 

(2) accused Lucy of breaking/ of having broken 

(3) such a long drive 

(4) ought to have saved 

(5) if it hadn’t been 

 

C. Fill in the gaps with words from the box. There are two extra words.                 

                                                                                                          (5x1=5 marks) 

(1) network 

(2) entertain 

(3) launch 

(4) research 

(5) screen 

 

D. Read the text and complete the blanks with the correct form of the words in 

bold. (10x1=10 marks) 

(1)qualifications              (2) satisfaction       (3) employment        (4) greatly 

(5) creative                     (6) activities           (7) personality          (8) journalist 

(9) accountant               (10) rewarding 

 


